SuMPO EPD SUMPOIRIESAINTOT 5 L

SEUME’OD _ — B EE A Y AT F AR A
.o AAAAA S4TNEBIEEE (EPD) ERHTARBXAME-14-8
VERIFIED KANDA SQUARE GATE
F8%x&EFS ¢ JR-AI-24330E https://ecoleaf-label jp

SHARP

vy -7t

(Sharp Corporation)

FORILVTIVAHS —ESIE

(DIGITAL FULL COLOR MULTIFUNCTIONAL SYSTEM)

BP-C131WD (JP)

HEHNL BHRES JR-AI-24330E
BHE1AHEY EAPCRES  PA-590000-Al-08
PCR% B A i ER (5 8hk]
HEX SRR 2AFA 2024108168
s mESS]) REEETEH  20244982H
OREMRFAE QfE ORE OFER-HIFEE ®BiIsk YATLFFEA R
®FEZE- YY1 RILES FV-08-24001
REAEAHEAR 2029498 1H
HAOB, T2k T PCRLE1-DENE
Bz : BP-CI131WD REBZ 2023F 9818
AR 1 BFEEAR (EP) EEE IS5 22
EFETERE 0 T/70: 31y (A497) — I EEAY AT F IR e pe
n3- 1 318yH (A4FT) BE=HRE"
BARREIIX © A4 NEPIREEE B #TF
TUYNAC—/AFv0 /D7D« 125
P EENRI/ADF : #ZXERAis ISO14025(CH 21 AT & R U T -9 DML LR EE
ORER WALEB

*YAT LRI EZ I EEERNORIEDBEE. VAT LRHLZITEEEED
ZETEHE.
FWEhHEE
Iv-THARE AV-PEIRAYYI-Y3VEERER
E-mail:ECOLEAF-BS@sharp.co.jp
Ei#xES ¢ JR-AI-24330E



https://ecoleaf-label.jp

SUMPOEBRIEININTOIT A
SuMPO SUMPO EPD 3 AR ATS I
N ..E PD s 7nmEsss (ePD) SR R P HE1-14-8
VERIFIED KANDA SQUARE GATE

EHES ¢ JR-AI-24330E

OF17Y1 7V REEFHHER

0% 20% 40% 60% 80% 100%
3% 1%
SURZE) IPCC 2013 GWP 100a 470 | kg-CO2eq
% 3%
[7ge(d 0.36 | kg-SO2eq
| 0% 0%
ERHE 0.17 | kg-Sbeq
= QFEMFEE = QA%E = QiR
QM- HER EQBEE-UFAIIL
2F JHE| B At | ORMERE Q%E QiR |opm-wsEE OREE UYL
KUEZE IPCC 2013 GWP 100a| kg-CO.eq | 4.7E+02 | 1.8E+02 | 1.4E+01 6.3E+00 | 24E+02 | 2.5E+01
2434 kg-SO.eq | 3.6E-01 1.7E-01 5.1E-03 1.0E-02 1.6E-01 1.6E-02
BRHE kg-Sbeq 1.7E-01 1.3E-01 6.0E-05 2.7E-05 4.6E-02 2.9E-05
JHE B mE-ME (EREBS) HfL
FEERER 2.1E+01 kg 555 7.4E+00 kg
BATRER 4.3E+01 kg SusS 1.5E-01 kg
TIVIZIL 3.5E-01 kg
Z0MERE 3.6E-01 kg
FIAFYH 9.7E+00 kg
myN 3.2E-02 kg
A5 8.5E-01 kg
PN 3.0E+00 kg
EE R REMR 9.0E-01 kg
20t 2.1E+00 kg

OEERRECEIT ZEMIER

BEofRET . BHAR
-[EFEHAMM%E 5 £/, ENRIFEMREE 139,500 ¢ LT, REEMEEHLTWET,
31 (¥37/8) x 15 (ByP3ad) =4 x5 (B/B) x 4 GB/A) x12 (A/F) x5 () =139,5001%
-EIRIAMOBREAR I EENTVEA,
CBRETEICAVRYTUAICBVTRELEES - E#E5# EPAR)
CERIRINF-RI-TOTILVer3 0[CRRVEELTWET,

©-1.ZDMDIRFERIE ISR

AEROMEIEEETERBTHERAMAE M—DEE(L 1ISO14001 RIS TIHICTITTON TV,

DERLEZRT-90DEZ A
JREIL, IDEA v2.1.3 RU SUMPOERIEINN SOOI L% 57T -Fv1.18 ZEALTWET,

®fiF%E

OT-YETENH LR PCRELVEE - EERBESRL LA,
OLLEIIOVWTE, EE - EERBICRESNREEBLLLGELLIRHONEEA,
(B BR5URL ! https://ecoleaf-label jp/regulation/)

fag
o
i
djo

- JR-AI-24330E



